Prepared by: Donna Denson, CPPB, Buyer



Item #/Description:	Item 1: M	lultipur	pose studen	t paint	Item 2:	Temp	era, liquid				WARD IT vater color	EMS 3-4
Bidder's Name	Qty.	Unit	Price_	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	1,000	cs	\$26.97	\$26,970.00	2600	cs	\$9.83	\$25,558.00	1500	ct	\$14.98	\$22,470.00
DICK BLICK COMPANY	1,000	cs	\$34.32	\$34,320.00	2600	cs	\$0.00	\$0.00	1500	ct	\$0.00	\$0.00
BUSINESS STATIONERS	1,000	cs	\$0.00	\$0.00	2600	cs	\$0.00	\$0.00	1500	ct	\$12.88	\$19,320.00
COMMERCIAL ART SUPPLY	1,000	cs	\$25.08	\$25,080.00	2600	cs	\$13.50	\$35,100.00	1500	ct	\$0.00	\$0.00
CUTLASS ENTERPRISES INC.	1,000	cs	\$0.00	\$0.00	2600	cs	\$0.00	\$0.00	1500	ct	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	1,000	cs	\$0.00	\$0.00	2600	cs	\$0 <u>.00</u>	\$0.00	1500	ct	\$0.00	\$0.00
ELISCU & COMPANY	1,000	cs	\$0.00	\$0.00	2600	cs	\$0.00	\$0.00	1500	ct	\$0.00	\$0.00
JACKMAN'S, INC.	1,000	cs	\$0.00	\$0.00	2600	cs	\$0.00	\$0.00	1500	ct	\$0.00	\$0.00
LAGUNA CLAY COMPANY	1,000	cs	\$0.00	\$0.00	2600	cs	\$0:00	\$0.00	1500	ct	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	1,000	cs	\$26.88	\$26,880.00	2600	cs	\$9.30	\$24,180.00	1500	ct	\$14.88	\$22,320.00
PYRAMID SCHOOL PRODUCTS	1,000	cs	_	\$0.00	2600	cs	\$0.00	\$0.00	1500	ct		\$0. <u>0</u> 0
S & S WORLDWIDE	1,000	cs	\$54.00	\$54,000.00	2600	cs	\$0.00	\$0.00	1500	ct	\$25.20	\$37,800.00
SCHOOL SPECIALTY	1,000	cs	\$14.88	\$14,880.00	2600	cs	\$11.22	\$29,172.00	1500	ct	\$27.24	\$40,860.00
SCHOOL SPECIALTY	1,000	cs	\$0.00	\$0.00	2600	cs	\$0.00	\$0.00	1500	ct	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	1,000	cs	\$28.00	\$28,000.00	2600	cs	\$9.78	\$25,428.00	1500	ct	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	1,000		\$0.00	\$0.00			\$9.61	\$24,986.00				\$21,930.00
STANDARD STATIONERY SUPPLY COMPANY	1,000	cs	\$0.00	\$0.00	2600	cs	\$0.00	\$0.00	1500	ct	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	1,000	cs	\$71.25	\$71,250.00	2600	cs	\$57.18	\$148,668.00	1500	ct	\$38.28	\$57,420.00

Date: 10/5/2011

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 4	: Paint	, water col	or refills	Item 5	: Acryli	c paint, blac	k	Item 6: A	Acrylic	paint, ultram	narine blue
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	600	ct	\$16.91	\$10,146.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
DICK BLICK COMPANY	600	ct	\$0.00	\$0.00	800	bx	\$3.78	\$3,024.00	1000	bx	\$3.78	\$3,780.00
BUSINESS STATIONERS	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	600	ct	\$0.00	\$0.00	800	bx	\$3.93	\$3,144.00	1000	bx	\$3.93	\$3,930.00
CUTLASS ENTERPRISES INC.	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
ELISCU & COMPANY	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
JACKMAN'S, INC.	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	600	ct	\$16.80	\$10,080.00	800	bx	\$3.87	\$3,096.00	1000	bx	\$3.87	\$3,870.00
PYRAMID SCHOOL PRODUCTS	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
S & S WORLDWIDE	600	ct	\$21.00	\$12,600.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	600	ct	\$34.56	\$20,736.00	800	bx	\$9.96	\$7,968.00	1000	bx	\$9.96	\$9,960.00
SCHOOL SPECIALTY	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	600	ct	\$0.00	\$0.00	800	bx	\$4.20	\$3,360.00	1000	bx	\$4.20	\$4,200.00
STANDARD STATIONERY SUPPLY COMPANY	600	ct	\$16.51	\$9,906.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	600	ct	\$41.88	\$25,128.00	800	bx	\$10.47	\$8,376.00	1000	bx	\$10.47	\$10,470.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 7: green	Acryli	c paint, pht	holocyanine	Item 8 light	3: Acry	lic paint, r	napthol red	Item 9:	Acrylic	paint, titar	nium white
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
DICK BLICK COMPANY	600	bx	\$3.78	\$2,268.00	800	bx	\$3.78	\$3,024.00	2100	tube	\$1.65	\$3,465.00
BUSINESS STATIONERS	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	600	bx	\$3.93	\$2,358.00	800	bx	\$3.93	\$3,144.00	2100	tube	\$2.34	\$4,914.00
CUTLASS ENTERPRISES INC.	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	600	bx	\$0.00	\$0.00	800	bx.	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
ELISCU & COMPANY	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
JACKMAN'S, INC.	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
LAGUNA CLAY COMPANY	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	600	bx	\$3.87	\$2,322.00	800	bx	\$3.87	\$3,096.00	2100	tube	\$5.95	\$12,495.00
PYRAMID SCHOOL PRODUCTS	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
S & S WORLDWIDE	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
SCHOOL SPECIALTY	600	bx	\$9.96	\$5,976.00	800	bx	\$9.96	\$7,968.00	2100	tube	\$9.96	\$20,916.00
SCHOOL SPECIALTY	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	600	bx	\$4.20	\$2,520.00	800	bx	\$4.20	\$3,360.00	2100	tube	\$4.20	\$8,820.00
STANDARD STATIONERY SUPPLY COMPANY	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	600	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	2100	tube	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	600	bx	\$10.47	\$6,282.00	800	bx	\$0.00	\$0.00	2100	tube	\$19.59	\$4 <u>1,139</u> .00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 1	0: acry	lic paint, y	ellow ochre	Item 11:	Acryli	c paint, yell	ow light hansa	Item 12	: Acryli	ic paint, bu	rnt umber
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
DICK BLICK COMPANY	800	bx	\$3.78	\$3,024.00	1000	bx i	\$3.78	\$3,780.00	800	bx	\$3.78	\$3,024.00
BUSINESS STATIONERS	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	800	bx	\$4.02	\$3,216.00	1000	bx	\$4.02	\$4,020.00	800	bx	\$4.02	\$3,216.00
CUTLASS ENTERPRISES NC.	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
ELISCU & COMPANY	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
JACKMAN'S, INC.	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	800	bx	\$3.87	\$3,096.00	1000	bx	\$3.87	\$3,870.00	800	bx	\$3.87	\$3,096.00
PYRAMID SCHOOL PRODUCTS	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
S & S WORLDWIDE	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	800	bx	\$0.00	\$0.00	1000	bx	\$10.05	\$10,050.00	800	bx	\$10.05	\$8,040.00
SCHOOL SPECIALTY	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	800	bx	\$4.20	\$3,360.00	1000	bx	\$4.20	\$4,200.00	800	bx	\$4.20	\$3,360.00
STANDARD STATIONERY SUPPLY COMPANY	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	800	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00	800	bx	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	800	bx	\$11.82	\$9,456.00	1000	bx	\$10.47	\$10,470.00	800	bx	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 13	3: Acryl	lic, medium g	loss	Item 1	4: Acry	lic gesso, 1 c	t	Item 15:	Palette	e, water co	olor
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
DICK BLICK COMPANY	300	cs	\$30.60	\$9,180.00	200	cs	\$51.00	\$10,200.00	2200	ea	\$0.00	\$0.00
BUSINESS STATIONERS	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	300	cs	\$43.44	\$13,032.00	200	cs	\$47.04	\$9,408.00	2200	ea	\$1.39	\$3,058.00
CUTLASS ENTERPRISES INC.	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$1.29	\$2,838.00
ELISCU & COMPANY	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
JACKMAN'S, INC.	300	cs	\$0.0 <u>0</u>	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
LAGUNA CLAY COMPANY	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	300	cs	\$34.75	\$10,425.00	200	cs	\$34.74	\$6,948.00	2200	ea	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
S & S WORLDWIDE	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.67	\$1,474.00
SCHOOL SPECIALTY	300	cs	\$30.78	\$9,234.00	200	cs	\$81.24	\$16,248.00	2200	ea	\$0.00	\$0.00
SCHOOL SPECIALTY	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	300	cs	\$36.00	\$10,800.00	200	cs	\$36.30	\$7,260.00	2200	ea	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	300	cs	\$0.00	\$0.00	200	cs	\$0.00	\$0.00	2200	ea	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	300	cs	\$110.04	\$33,012.00	200	cs	\$211.56	\$42,312.00	2200	ea	\$0.00	\$0 <u>.00</u>

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 1	6: Strip	palette		Item 1	7: Ca	nvas		Item 18	3: Stre	tcher strip	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	250	bx	\$0.00	\$0.00	400	roll	\$39.97	\$15,988.00	400	pkg	\$15.66	\$6,264.00
DIÇK BLICK COMPANY	250	bx	\$27.48	\$6,870.00	400	roll	\$0.00	\$0.00	400	pkg	\$8.16	\$3,264.00
BUSINESS STATIONERS	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	250	bx	\$39.96	\$9,990.00	400	roll	\$38.95	\$15,580.00	400	pkg	\$9.42	\$3,768.00
CUTLASS ENTERPRISES INC.	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
ELISCU & COMPANY	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
JACKMAN'S, INC.	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
LAGUNA CLAY COMPANY	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	250	bx	\$0.00	\$0.00	400	roll	\$42.95	\$17,180.00	400	pkg	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
S & S WORLDWIDE	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
SCHOOL SPECIALTY	250	bx	\$22.20	\$5,550.00	400	roll	\$36.78	\$14,712.00	400	pkg	\$6.10	\$2,440.00
SCHOOL SPECIALTY	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	250	bx	\$17.70	\$4,425.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	250	bx	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	400	pkg	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	250	bx	\$40.92	\$10,230.00	400	roli	\$49.13	\$19,652.00	400	_pkg	\$0.00	\$0.00

Date: 10/5/2011
Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 1	9: Stre	tcher strip		Item 20	0: Stret	cher strip		Item 2	1: Stre	tcher strip	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	144	pkg	\$18.00	\$2,592.00	168	pkg	\$20.16	\$3,386.88	432	pkg	\$22.14	\$9,564.48
DICK BLICK COMPANY	144	pkg	\$9.00	\$1,296.00	168	pkg	\$9.60	\$1,612.80	432	pkg	\$10.92	\$4,717.44
BUSINESS STATIONERS	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	144	pkg	\$10.44	\$1,503.36	168	pkg	\$11.58	\$1,945.44	432	pkg	\$12.72	\$5,495.04
CUTLASS ENTERPRISES INC.	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
ELISCU & COMPANY	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
JACKMAN'S, INC.	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
LAGUNA CLAY COMPANY	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
S & S WORLDWIDE	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
SCHOOL SPECIALTY	144	pkg	\$6.70	\$964.80	168	pkg	\$7.30	\$1,226.40	432	pkg	\$8.10	\$3,499.20
SCHOOL SPECIALTY	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	144	pkg	\$0.00	\$0.00	168	pkg	\$0.00	\$0.00	432	pkg	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 22	2: Stre	tcher strip		Item 23:	: Brush	n, water co	olor #1	Item 24:	Brush	n, water co	or #6
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	114	pkg	\$33.84	\$3,857.76	1000	dz	\$0.00	\$0.00	1200	dz	\$5.62	\$6,744.00
DICK BLICK COMPANY	114	pkg	\$15.24	\$1,737.36	1000	dz	\$6.24	\$6,240.00	1200	dz	\$7.68	\$0.00
BUSINESS STATIONERS	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	114	pkg	\$18.84	\$2,147.76	1000	dz	\$7.56	\$7,560.00	1200	dz	\$10.20	\$0.00
CUTLASS ENTERPRISES INC.	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$12,240.00
DGS EUDCATIONAL PRODUCTS	114	pkg	\$0.00	\$0.00	1000	dz	\$5.05	\$5,050.00	1200	dz	\$7.95	\$0.00
ELISCU & COMPANY	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
JACKMAN'S, INC.	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
LAGUNA CLAY COMPANY	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	114	pkg	\$0.00	\$0.00	1000	dz	\$4.68	\$4,680.00	1200	dz	\$6.00	\$7,200.00
PYRAMID SCHOOL PRODUCTS	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
S & S WORLDWIDE	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
SCHOOL SPECIALTY	114	pkg	\$12.00	\$1,368.00	1000	dz	\$7.32	\$7,320.00	1200	dz	\$11.28	\$0.00
SCHOOL SPECIALTY	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	114		\$0.00	\$0.00	1000	dz	\$0.89	\$890.00	1200	dz	\$1.16	\$1,392.00
STANDARD STATIONERY SUPPLY COMPANY	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	114	pkg	\$0.00	\$0.00	1000	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 25	: Brusl	h, water col	or #8	Item 26:	Brush	, water cold	or #12	Item 27:	Brush	, bristle 1/4"	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit'	Price	Total
AFP INDUSTRIES	1200	dz	\$6.72	\$8,064.00	1200	dz	\$10.51	\$12,612.00	1200	dz	\$0.00	\$0.00
DICK BLICK COMPANY	1200	dz	\$8.88	\$10,656.00	1200	dz	\$13.20	\$15,840.00	1200	dz	\$8.76	\$10,512.00
BUSINESS STATIONERS	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$2.00	\$2,400.00
COMMERCIAL ART SUPPLY	1200	dz	\$11.76	\$14,112.00	1200	dz	\$20.88	\$25,056.00	1200	dz	\$2.34	\$2,808.00
CUTLASS ENTERPRISES INC.	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	1200	dz	\$10.25	\$12,300.00	1200	dz	\$14.65	\$17,580.00	1200	dz	\$2.69	\$3,228.00
ELISCU & COMPANY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	_ \$0.00	1200	dz	\$0.00	\$0.00
JACKMAN'S, INC.	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
LAGUNA CLAY COMPANY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	1200	dz	\$7.08	\$8,496.00	1200	dz	\$10.80	\$12,960.00	1200	dz	\$1.92	\$2,304.00
PYRAMID SCHOOL PRODUCTS	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
S & S WORLDWIDE	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
SCHOOL SPECIALTY	1200	dz	\$13.80	\$16,560.00	1200	dz	\$23.76	\$28,512.00	1200	dz	\$7.92	\$9,504.00
SCHOOL SPECIALTY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	1200		\$1.28	\$1,536.00			\$1.91	\$2,292.00		dz	\$1.18	\$1,416.00
STANDARD STATIONERY SUPPLY COMPANY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 28	: Brush	, bristle 1/2		Item 29:	Brush	, bristle 3/4	'	Item 3	0: Bru	sh, lettering	1/4"
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
DICK BLICK COMPANY	1200	dz	\$10.56	\$12,672.00	1200	dz	\$16.08	\$19,296.00	240	dz	\$0.00	\$0.00
BUSINESS STATIONERS	1200	dz	\$2.91	\$3,492.00	1200	dz	\$4.62	\$5,544.00	240	dz	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	1200	dz	\$3.96	\$4,752.00	1200	dz	\$5.64	\$6,768.00	240	dz	\$3.24	\$777.60
CUTLASS ENTERPRISES INC.	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	1200	dz	\$3.64	\$4,368.00	1200	dz	\$5.07	\$6,084.00	240	dz	\$5.39	\$1,293.60
ELISCU & COMPANY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
JACKMAN'S, INC.	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
LAGUNA CLAY COMPANY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	1200	dz	\$2.52	\$3,024.00	1200	dz	\$3.72	\$4,464.00	240	dz	\$4.68	\$1,123.20
PYRAMID SCHOOL PRODUCTS	1200	dz	\$0.00	\$0.00	1200	dz_	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
S & S WORLDWIDE	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
SCHOOL SPECIALTY	1200	dz	\$9.84	\$11,808.00	1200	dz	\$13.92	\$16,704.00	240	dz	\$0.00	\$0.00
SCHOOL SPECIALTY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	1200	dz	\$1.98	\$2,376.00	1200	dz	\$2.63	\$3,156.00	240	dz	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	1200	dz	\$0.00	\$0.00	1200	dz	\$0.00	\$0.00	240	dz	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 31	: Brush,	lettering 1/2"		Item 32:	Portfo	lio 20" x 26"		Item 33:	Portfo	olio 23" x 31	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
DICK BLIÇK COMPANY	240	dz	\$11.88	\$2,851.20	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
BUSINESS STATIONERS	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	240	dz	\$3.60	\$864.00	4000	ea	\$2.98	\$11,920.00	4000	ea	\$3.41	\$13,640.00
CUTLASS ENTERPRISES INC.	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	240	dz	\$8.24	\$1,977.60	4000	ea	\$5 .19	\$20,760.00	4000	ea	\$5.69	\$22,760.00
ELISCU & COMPANY	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
JACKMAN'S, INC.	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
LAGUNA CLAY COMPANY	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	240	dz	\$6.72	\$1,612.80	4000	ea	\$3.79	\$15,160.00	4000	ea	\$4.05	\$16,200.00
PYRAMID SCHOOL PRODUCTS	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
S & S WORLDWIDE	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
SCHOOL SPECIALTY	240	dz	\$0.00	\$0.00	4000	ea	\$3.72	\$14,880.00	4000	ea	\$4.03	\$16,120.00
SCHOOL SPECIALTY	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	240	dz	\$0.00	\$0.00	4000	ea	\$0.00	\$0.00	4000) ea	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 3	34: Po	rtfolio, sket	ch 23" x 31	item :	35: Si	ketch books	100 sheets	Item3	6: Ske	etchbook 80 s	sheets
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
DICK BLICK COMPANY	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
BUSINESS STATIONERS	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	500	ea	\$20.24	\$10,120.00	500	cs	\$30.60	\$15,300.00	40	cs	\$92.28	\$3,691.20
CUTLASS ENTERPRISES INC.	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	500	ea	\$33.95	\$16,975.00	500	CS	\$0.00	\$0.00	40	cs	\$138.84	\$5,553.60
ELISCU & COMPANY	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
JACKMAN'S, INC.	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
LAGUNA CLAY COMPANY	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	500	ea	\$0.00	\$0.00	500	cs	\$39.48	\$19,740.00	40	cs	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
S & S WORLDWIDE	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
SCHOOL SPECIALTY	500	ea	\$0.00	\$0.00	500	cs	\$33.72	\$16,860.00	40	cs	\$0.00	\$0.00
SCHOOL SPECIALTY	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	, \$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	cs	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	500	ea	\$0.00	\$0.00	500	cs	\$0.00	\$0.00	40	CS	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 3		etchbook, ha	rdbound 216	Item 3		etchbook, h	ardbound 192	Item 39:	Easer	s, kneaded	1
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$6.76	\$10,816.00
DICK BLICK COMPANY	400	cs	\$61.20	\$24,480.00	240	cs	\$81.96	\$19,670.40	1600	bx	\$0.00	\$0.00
BUSINESS STATIONERS	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	400	cs	\$74.64	\$29,856.00	240	cs	\$116.28	\$27,907.20	1600	bx	\$6.72	\$10,752.00
CUTLASS ENTERPRISES INC.	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	400	cs	\$124.80	\$49,920.00	240	cs	\$1 <u>7</u> 7.00	\$42,480.00	1600	bx	\$7.65	\$12,240.00
ELISCU & COMPANY	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
JACKMAN'S, INC.	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$5.38	\$8,608.00
PYRAMID SCHOOL PRODUCTS	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
S & S WORLDWIDE	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	400	cs	\$16.80	\$6,720.00	240	cs	\$23.79	\$5,709.60	1600	bx	\$7.83	\$12,528.00
SCHOOL SPECIALTY	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$6.00	\$9,600.00
STANDARD STATIONERY SUPPLY COMPANY	400		\$0.00	\$0.00			\$0.00	\$0.00			\$2.95	\$4,720.00
STANDARD STATIONERY SUPPLY COMPANY	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	400	cs	\$0.00	\$0.00	240	cs	\$0.00	\$0.00	1600	bx	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 4	0: Bler	nding stun	np	Item 4	1: Co	mpressed	charcoal	Item 42:	Char	coal sticks	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	· bx	\$0.00	\$0.00
DICK BLICK COMPANY	600	pkg	\$1.84	\$1,104.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
BUSINESS STATIONERS	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	600	pkg	\$1.20	\$720.00	100	ct	\$23.88	\$2,388.00	1200	bx	\$1.99	\$2,388.00
CUTLASS ENTERPRISES INC.	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	600	pkg	\$3.33	\$1,998.00	100	ct	\$4.95	\$495.00	1200	bx	\$5.95	\$7,140.00
ELISCU & COMPANY	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
JACKMAN'S, INC.	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	600	pkg	\$2.95	\$1,770.00	100	ct	\$28.68	\$2,868.00	1200	bx	\$4.59	\$5,508.00
PYRAMID SCHOOL PRODUCTS	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
S & S WORLDWIDE	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	600	pkg	\$2.27	\$1,362.00	100	ct	\$31.68	\$3,168.00	1200	bx	\$7.71	\$9,252.00
SCHOOL SPECIALTY	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	600	pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY		pkg	\$0.00	\$0.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	600	pkg	\$3.08	\$1,848.00	100	ct	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 4	3: Cha	arcoal pen	cils	Item 44	1: Pen	cils, drawi	ng	Item 45:	Pencil	s, drafting	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
DICK BLICK COMPANY	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
BUSINESS STATIONERS	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	400	bx	\$27.36	\$10,944.00	600	bx	\$18.72	\$11,232.00	1000	bx	\$1.32	\$1,320.00
CUTLASS ENTERPRISES INC.	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	400	bx	\$31.84	\$12,736.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
ELISCU & COMPANY	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
JACKMAN'S, INC.	400	bx	\$0.00	\$0.00	600	bх	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	400	bx	\$24.54	\$9,816.00	600	bx	\$18.54	\$11,124.00	1000	bx	\$7.74	\$7,740.00
PYRAMID SCHOOL PRODUCTS	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
S & S WORLDWIDE	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	400	bx	\$36.18	\$14,472.00	600	bx	\$21.78	\$13,068.00	1000	bx	\$37.44	\$37,440.00
SCHOOL SPECIALTY	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	400	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	400	bx	\$47.28	\$18,912.00	600	bx	\$0.00	\$0.00	1000	bx	\$0.00	\$0.00

	Item 46: sharpene		colored dra	wing pre-	Item 47		cil, colored				ed pencil	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	2000	pkg	\$0.00	\$0.00	3000	bx	\$2.18	\$6,540.00	4000	bx	\$2.84	\$11,360.00
DICK BLICK COMPANY	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
BUSINESS STATIONERS	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
CUTLASS ENTERPRISES INC.	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	2000	pkg	\$1.12	\$2,240.00	3000	bx	\$2.08	\$6,240.00	4000	bx	\$2.74	\$10,960.00
ELISCU & COMPANY	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
JACKMAN'S, INC.	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	2000	pkg	\$1.11	\$2,220.00	3000	bx	\$2.11	\$6,330.00	4000	bx	\$2.80	\$11,200.00
PYRAMID SCHOOL PRODUCTS	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
S & S WORLDWIDE	2000	pkg	\$12.96	\$25,920.00	3000	bx	\$0.00	\$0.00	4000	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	2000	pkg	\$0.70	\$1,400.00	3000	bx	\$17.13	\$51,390.00	4000	bx	\$3.68	\$14,720.00
SCHOOL SPECIALTY	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$2.76	\$11,040.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	2000		\$1.30	\$2,600.00	3000	bx	\$2.35	\$7,050.00	4000	bx	\$3.10	\$12,400.00
STANDARD STATIONERY SUPPLY COMPANY	2000		\$1.09	\$2,180.00			\$2.07	\$6,210.00	4000	bx	\$2.75	
STANDARD STATIONERY SUPPLY COMPANY	2000	pkg	\$0.52	\$1,034.00	3000	bx	\$1.23	\$3,690.00	4000	bx	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	2000	pkg	\$0.00	\$0.00	3000	bx	\$0.00	\$0.00	4000	bx	\$4.46	\$17,840.00

Prepared by: Donna Denson, CPPB, Buyer

Item #/Description:	Item 49	: Colo	r sticks		Item 5	0: Pa	stels, drawin	g
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	4000	bx	\$12.98	\$51,920.00	400	ct	\$24.94	\$9,976.00
DICK BLICK COMPANY	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
BUSINESS STATIONERS	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	4000	bx	\$0.00	\$15.69	400	ct	\$0.00	\$0.00
CUTLASS ENTERPRISES INC.	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
DGS EUDCATIONAL PRODUCTS	4000	bx	\$0.00	\$0.00	400	ct	\$49.80	\$19,920.00
ELISCU & COMPANY	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
JACKMAN'S, INC.	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
LAGUNA CLAY COMPANY	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	4000	bx	\$16.29	\$65,160.00	400	ct	\$22.20	\$8,880.00
PYRAMID SCHOOL PRODUCTS	4000	bx	\$13.99	\$55,960.00	400	ct	\$0.00	\$0.00
S & S WORLDWIDE	4000	bx	\$0.00	\$0.00	400	ct	\$37.68	\$15,072.00
SCHOOL SPECIALTY	4000	bx	\$18.25	\$73,000.00	400	ct	\$27.00	\$10,800.00
SCHOOL SPECIALTY	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
DABOTER INC., D.B.A. SMITH OFFICE OF COMPUTER SUPPLY	4000	bx	\$14.59	\$58,360.00	400	ct	\$32.00	\$12,800.00
STANDARD STATIONERY SUPPLY COMPANY	4000	bx	\$12.76	\$51,040.00	400	ct	\$2.45	\$980.00
STANDARD STATIONERY SUPPLY COMPANY	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	4000	bx	\$0.00	\$0.00	400	ct	\$0.00	\$0.00

Item #/Description:	Item 5	1: Pas	stels, oil		Item 52	2: Cray	ons, large		Item 53: (Crayon	s, small	
Bidder's Name	Qty.	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	600	ct	\$23.36	\$14,016.00	.800	<u>c</u> t	\$0.00	\$0.00	1,500	ct	\$61.34	\$92,010.00
DICK BLICK COMPANY	600	ct	\$0.00	\$0.00	800	ct	\$0.00	\$0.00	1,500	_ct	\$0.00	\$0.00
BUSINESS STATIONERS	600	ct	\$43.00	\$25,800.00	800	ct	\$0 <u>.</u> 00	\$0.00	1,500	ct	\$45.10	\$67,650.00
BUSINESS STATIONERS	600	ct	\$0.00	\$0.00	800	ct	\$0.00	\$0.00	1,500	ct	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	600	ct	\$11.52	\$6,912.00	800	ct	\$0.00	\$0.00	1,500	. ct	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	600	ct_	\$0.00	\$0.00	800	ct	\$0.00	\$0.00	1,500	ct	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	600	ct	\$43.15	\$25,890.00	800	ct	\$0.00	\$0.00	1,500	ct	\$0.00	\$0.00
ELISCU & COMPANY INC.	600	ct	\$0.00	\$0.00	800	ct	\$0.00	\$0.00	1,500	ct	\$0.00	\$0.00
JACKMAN'S, INC.	600	ct	\$0.00	\$0.00	800	ct	\$0.00	\$0.00	1,500	ct	\$0.00	\$0.00
LAGUNA CLAY COMPANY	600	ct	\$0.00	\$0.00	800	ct	\$0.00	\$0.00	1,500	ct	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	600	ct	\$42.48	\$25,488.00	800	ct	\$23.76	\$19,008.00	1,500	ct	\$60.48	\$90,720.00
S & S WORLDWIDE	600	ct	\$86.40	\$51,840.00	800	ct	\$152.64	\$122,112.00	1,500	ct	\$55.40	\$83,100.00
SCHOOL SPECIALTY	600	ct	\$26.64	\$15,984.00	800	ct	\$17.52	\$14,016.00	1,500	ct	\$63.36	\$95,040.00
DABOTOER, INC., D.B.A SMITH OFFICE & COMPUTER SUPPLY	600	ct	\$41.76	\$25,056.00	800	ct	\$0.00	\$0.00	1,500	ct	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY CO.	600	ct	\$6.63	\$3,978.00	800	ct	\$0.00	\$0.00	1,500	ct	\$59.42	\$89,130.00
TRIARCO ARTS & CRAFTS, LLC	600	ct	\$210.24	\$126,144.00	800	ct	\$0.00	\$0.00	1,500	ct	\$172.80	\$259,200.00

Item #/Description:	Item 54	: Cray	ons, wax		Item 5	55: Cra	ayons, sma	Il flesh tone	Item 5	6: Cray	ons, large	flesh tone
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
DICK BLICK COMPANY	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
BUSINESS STATIONERS	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
BUSINESS STATIONERS	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
ELISCU & COMPANY INC.	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
JACKMAN'S, INC.	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	600	ct	\$114.48	\$68,688.00	800	bx	\$4.08	\$3,264.00	600	bx.	\$8.16	\$4,896.00
S & S WORLDWIDE	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$11.52	\$6,912.00
SCHOOL SPECIALTY	600	ct	\$24.48	\$14,688.00	800	bx	\$3.96	\$3,168.00	600	bx	\$7.80	\$4,680.00
DABOTOER, INC., D.B.A SMITH OFFICE & COMPUTER SUPPLY	600	ct	\$0.00	\$0.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY CO.	600	ct	\$87.01	\$52,206.00	800	bx	\$0.00	\$0.00	600	bx	\$0.00	\$0.00
TRIARCO ARTS & CRAFTS, LLC	600	ct	\$0.00	\$0.00	800	bx	\$7.20	\$5,760.00	600	bx	\$20.76	\$12,456.00

Item #/Description:	Item 57:	Marker	s, felt tip		Item 58: C	olored	markers, ch	nisel point	Item 59:	Color r	narkers	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	2,000	bx_	\$3.47	\$6,940.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
DICK BLICK COMPANY	2,000	bx	\$0.00	\$0.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
BUSINESS STATIONERS	2,000	bx	\$2.00	\$4,000.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
BUSINESS STATIONERS	2,000	bx	\$2.77	\$5,540.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	2,000	bx	\$0.00	\$0.00	2,000	cs	\$53.88	\$107,760.00	3,000	bx	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	2,000	bx	\$0.00	\$0.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	2,000	bx	\$0.00	\$0.00	2,000	CS	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
ELISCU & COMPANY INC.	2,000	bx	\$0.00	\$0.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
JACKMAN'S, INC.	2,000	bx	\$0.00	\$0.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	2,000	bx	\$0.00	\$0.00	2,000	CS	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	2,000	bx	\$5.10	\$10,200.00	2,000	cs	\$55.56	\$111,120.00	3,000	bx	\$1.69	\$5,070.00
S & S WORLDWIDE	2,000	bx	\$7.92	\$15,840.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	2,000	bx	\$7.56	\$15,120.00	2,000	CS	\$62.28	\$124,560.00	3,000	bx	\$1.04	\$3,120.00
DABOTOER, INC., D.B.A SMITH OFFICE & COMPUTER SUPPLY	2,000	bx	\$5.52	\$11,040.00	2,000	cs	\$49.92	\$99,840.00	3,000	. bx	\$1.80	\$5,400.00
STANDARD STATIONERY SUPPLY CO.	2,000	bx	\$1.41	\$2,820.00	2,000	cs	\$20.12	\$40,240.00	3,000	bx	\$1.06	\$3,180.00
TRIARCO ARTS & CRAFTS, LLC	2,000	bx	\$12.36	\$24,720.00	2,000	cs	\$0.00	\$0.00	3,000	bx	\$0.00	\$0.00

September of the control of the cont

Item #/Description:	Item 60:	Paint	markers		Item 6	1: lnk,	drawing 1	qt	Item 6	2: Ink,	drawing 1 oz.	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
DICK BLICK COMPANY	2,000	bx	\$0.00	\$0.00	300	qt	\$7.00	\$2,100.00	400	ct	\$0.00	\$0.00
BUSINESS STATIONERS	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
BUSINESS STATIONERS	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	2,000	bx	\$9.60	\$19,200.00	300	qt	\$8.13	\$2,439.00	400	ct	\$9.48	\$3,792.00
CUTLASS ENTERPRISES, INC.	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
ELISCU & COMPANY INC.	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
JACKMAN'S, INC.	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
LAGUNA CLAY COMPANY	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	2,000	bx	\$8.34	\$16,680.00	300	qt	\$6.49	\$1,947.00	400	ct	\$11.70	\$4,680.00
S & S WORLDWIDE	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
SCHOOL SPECIALTY	2,000	bx	\$1.54	\$3,080.00	300	qt	\$6.87	\$2,061.00	400	ct	\$11.46	\$4,584.00
DABOTOER, INC., D.B.A SMITH OFFICE & COMPUTER SUPPLY	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY CO.	2,000	bx	\$0.00	\$0.00	300	qt	\$0.00	\$0.00	400	ct	\$0.00	\$0.00
TRIARCO ARTS & CRAFTS, LLC	2,000	bx	\$0.00	\$0.00	300	qt	\$10.76	\$3,228.00	400	ct	\$0.00	\$0.00

Item #/Description:	Item 6	3: Per	holder		Item 6	4: Per	points		Item 6	5: Per	points, dra	wing
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
DICK BLICK COMPANY	300	bx	\$3.00	\$900.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
BUSINESS STATIONERS	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bх	\$0.00	\$0.00
BUSINESS STATIONERS	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	300	bx	\$7.14	\$2,142.00	250	bx	\$10.92	\$2,730.00	300	bx	\$5.64	\$1,692.00
CUTLASS ENTERPRISES, INC.	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
ELISCU & COMPANY INC.	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
JACKMAN'S, INC.	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	300	bx	\$6.39	\$1,917.00	250	bx	\$9.69	\$2,422.50	300	bx	\$5.05	\$1,515.00
S & S WORLDWIDE	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	300	bx	\$7.92	\$2,376.00	250	bx	\$11.83	\$2,957.50	300	bx	\$6.17	\$1,851.00
DABOTOER, INC., D.B.A SMITH OFFICE & COMPUTER SUPPLY	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY	300	bx	\$0.00	\$0.00	250	bx	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
TRIARCO ARTS & CRAFTS, LLC	300	bx	\$11.59	\$3,477.00	250	bx	\$0.00	\$0.00	300	bx	\$7.88	\$2,364.00

Item #/Description:				WAWARD	Item 67:	Knife	blades		ltem 68:	Ink, li	noleum	
Bidder's Name	Qty	Unit	handle and Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$0.00	\$0.00
DICK BLICK COMPANY	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$17.64	\$26,460.00
BUSINESS STATIONERS	4,000	st	\$1.55	\$6,200.00	1,000	pkg	\$0.62	\$620.00	1,500	bx	\$0.00	\$0.00
BUSINESS STATIONERS	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	4,000	st	\$1.36	\$5,440.00	1,000	pkg	\$0.44	\$440.00	1,500	bx	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$0.00	\$0.00
ELISCU & COMPANY INC.	4,000	st	\$0.00	\$0.00			\$0.00	\$0.00			\$0.00	\$0.00
JACKMAN'S, INC.	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	4,000	st	\$1.99	\$7,960.00	1,000		\$0.95	\$950.00	1,500	bx	\$17.40	\$26,100.00
S & S WORLDWIDE	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bх	\$0.00	\$0.00
SCHOOL SPECIALTY	4,000	st	\$1.99	\$7,960.00	1,000	pkg	\$1.32	\$1,320.00	1,500	bx	\$0.00	\$0.00
DABOTOER, INC., D.B.A SMITH OFFICE & COMPUTER SUPPLY	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.524	\$524.00	1,500	bx	\$0.00	\$0.00
TRIARCO ARTS & CRAFTS, LLC	4,000	st	\$0.00	\$0.00	1,000	pkg	\$0.00	\$0.00	1,500	bx	\$0.00	\$0.00

Item #/Description:	ITEMS			OW AWARD	Item 7	0: Line	oleum cutt	er handle	Item 7	1: Line	oleum cutte	er blades	Item 7	2: Bra	y	
. Bidder's Name	Qty	Unit	Price	Total .	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
DICK BLICK COMPANY	500	pkg	\$25.92	\$12,960.00	150	bx	\$24.12	\$3,618.00	700	bx	\$8.86	\$6,202.00	600	ea	\$0.00	\$0.00
BUSINESS STATIONERS	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
BUSINESS STATIONERS	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$4.97	\$2,982.00
CUTLASS ENTERPRISES, INC.	500	pkġ	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
ELISCU & COMPANY INC.	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
JACKMAN'S, INC.	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
LAGUNA CLAY COMPANY	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	500	pkg	\$53.88	\$26,940.00	150	bx	\$21.48	\$3,222.00	700	bx	\$7.59	\$5,313.00	600	ea	\$4.25	\$2,550.00
S & S WORLDWIDE	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
SCHOOL SPECIALTY	500	pkg	\$36.36	\$18,180.00	150	bx	\$22.32	\$3,348.00	700	bx	\$8.25	\$5,775.00	600	ea	\$7.31	\$4,386.00
DABOTOER, INC., D.B.A SMITH OFFICE & COMPUTER SUPPLY	500	pkg	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY CO.				\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$0.00	\$0.00	600	ea	\$0.00	\$0.00
TRIARCO ARTS & CRAFTS, LLC	500		\$0.00	\$0.00	150	bx	\$0.00	\$0.00	700	bx	\$11.40	\$7,980.00	600	ea	\$8.55	\$5,130.00

Item #/Description:	Item 73	3: Bati	k wax		ITEMS	74-75 T	OTAL LOV	VAWARD	Item 75	: Clay,	firing	
						l: Clay, f	iring					
Bidder's Name	Qty.	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
DICK BLICK COMPANY	300	ea	\$6.09	\$1,827.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
BUSINESS STATIONERS	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	300	ea	\$0.00	\$0.00	3000	ct _	\$8.99	\$26,970.00	3000	ct	\$9.75	\$29,250.00
CUTLASS ENTERPRISES, INC.	300	ea	\$0.00	\$0.00	3000	ct	\$10.25	\$30,750.00	3000	ct	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS ·	300	ea	\$8.64	\$2,592.00	3000	ct _	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
ELISCU & COMPANY	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
JACKMAN'S INC.	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
LAGUNA CLAY COMPANY	300	ea	\$0.00	\$0.00	3000	ct	\$13.70	\$41,100.00	3000	ct	\$13.60	\$40,800.00
PYRAMID SCHOOL PRODUCTS	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
S & S WORLDWIDE	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
SCHOOL SPECIALTY	300	ea	\$3.87	\$1,161.00	3000	ct	\$13.19	\$39,570.00	3000	ct	\$16.12	\$48,360.00
SCHOOL SPECIALTY	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	300	ea	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	300	ea	\$0.00	\$0.00	3000	ct _	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	300	ea	\$6.23	\$1,869.00	3000	ct	\$0.00	\$0.00	3000	ct	\$0.00	\$0.00

Item #/Description:	ITEMS	76- 77	TOTAL LOW A	WARD	Item 77	': Cla	y, modeli	ng	Item 7	8: Cera	amic glaz	ze e
	ltem 76	: Clay,	modeling		terraco	ta		<u> </u>				
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total_	Qty	Unit	Price	Total
AFP INDUSTRIES	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
DICK BLICK COMPANY	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
BUSINESS STATIONERS	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	700	bx	\$1.48	\$1,036.00	1200	bx	\$1.48	\$1,776.00	156	gal	\$24.90	\$3,884.40
CUTLASS ENTERPRISES, INC.	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$20.09	\$3,134.04
DGS EDUCATIONAL PRODUCTS	7 00	bx	\$4.65	\$3,255.00	1200	bx	\$4.65	\$5,580.00	156	gal	\$0.00	\$0.00
ELISCU & COMPANY	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gai	\$0.00	\$0.00
JACKMAN'S INC.	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
LAGUNA CLAY COMPANY	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	700	bx	\$1.95	\$1,365.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
S & S WORLDWIDE	7 00	bx	\$0.00	\$0.00	1200	bx	\$1.80	\$2,160.00	156	gal	\$0.00	\$0.00
SCHOOL SPECIALTY	700	bx	\$0.76	\$532.00	1200	bx	\$0.76	\$912.00	156	gal	\$23.27	\$3,630.12
SCHOOL SPECIALTY	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	700	bx	\$0.88	\$616.00	1200	bx	\$0.88	\$1,056.00	156	gal	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	700	bx	\$0,00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	700	bx	\$0.00	\$0.00	1200	bx	\$0.00	\$0.00	156	gal	\$0.00	\$0.00

Item #/Description:	ITEM 7	'9-81 7	TOTAL LOW A	WARD	ı	0: Wo	oden mo	odeling tool	Item 81	1: Woo	den tool to	ool (square)
			den modeling		(flat)							
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty_	Unit	Price	Total
AFP INDUSTRIES	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
DICK BLICK COMPANY	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.0 <u>0</u>	100	bx	\$0.00	\$0.00
BUSINESS STATIONERS	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	80	bx	\$8.04	\$643.20	150	bx	\$8.52	\$1,278.00	100	bx	\$14.52	\$1,452.00
CUTLASS ENTERPRISES, INC.	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	80	bx	\$8.93	\$714.40	150	bx	\$8.89	\$1,333.50	100	bx	\$15.88	\$1,588.00
ELISCU & COMPANY	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
JACKMAN'S INC.	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	80	bx	\$6.79	\$543.20	150	bx	\$6.79	\$1,018.50	100	bx	\$13.49	\$1,349.00
S & S WORLDWIDE	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
SCHOOL SPECIALTY	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bх	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	80	bx	\$0.00	\$0.00	150	bx	\$0.00	\$0.00	100	bx	\$0.00	\$0.00

Item #/Description:	Item 82	2: Cor	e, pyro	metric	Item 8	3: Sta	r stilts		Item 8	4: Kni	fe, fettlir	ng
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
DICK BLICK COMPANY	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$2.63	\$1,841.00
BUSINESS STATIONERS	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.79	\$553.00
CUTLASS ENTERPRISES, INC.	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$2.85	\$1,995.00
CUTLASS ENTERPRISES, INC.	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$2.00	\$1,400.00
ELISCU & COMPANY	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
JACKMAN'S INC.	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
LAGUNA CLAY COMPANY	120	bx	\$7.23	\$867.60	70	pkg	\$9.50	\$665.00	700	ea	\$4.01	\$2,807.00
PYRAMID SCHOOL PRODUCTS	120	bx.	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
S & S WORLDWIDE	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
SCHOOL SPECIALTY	120	bx	\$6.38	\$765.60	70	pkg	\$6.34	\$443.80	700	ea	\$2.49	\$1,743.00
SCHOOL SPECIALTY	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	120	bx	\$0.00	\$0.00	70	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	120	bx	\$0.00	\$0.00	70.	pkg	\$0.00	\$0.00	700	ea	\$0.00	\$0.00

Websites to help the process of the contract o

Item #/Description:	item 8	5: Steel s	crapers		Item 8	6: Fini	shing rul	ober	ltem 8	7: Burl	ар	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
DICK BLICK COMPANY	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
BUSINESS STATIONERS	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	1200	ea	\$0.39	\$468.00	500	ea	\$0.39	\$195.00	100	roll	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	1200	ea	\$1.80	\$2,160.00	500	ea	\$1.26	\$630.00	100	roli	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	1200	ea	\$0.74	\$888.00	500	ea	\$2.15	\$1,075.00	100	roll	\$69.95	\$6,995.00
ELISCU & COMPANY	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
JACKMAN'S INC.	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$84.00	\$8,400.00
LAGUNA CLAY COMPANY	1200	ea	\$1.55	\$1,860.00	500	ea	\$1.97	\$985.00	100	roll	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	1200	ea	\$0.79	\$948.00	500	ea	\$5.19	\$2,595.00	100	roll	\$59.00	\$5,900.00
S & S WORLDWIDE	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
SCHOOL SPECIALTY	1200	ea	\$0.38	\$456.00	500	ea	\$1.14	\$570.00	100	roll	\$0.00	\$0.00
SCHOOL SPECIALTY	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	1200	ea	\$0.00	\$0.00	500	ea	\$0.00	\$0.00	100	roll	\$0.00	\$0.00

Item #/Description:	Item 8	8: Mu	slin, blead	ched	Item 8	9: Raffi	a, natru	al	Item 9	0: Ne	edle, tap	estry
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	300	roli	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
DICK BLICK COMPANY	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
BUSINESS STATIONERS	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	300	roll	\$26.95	\$8,085.00	400	hank	\$6.25	\$2,500.00	700	pkg	\$2.30	\$1,610 <u>.</u> 00
ELISCU & COMPANY	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.45	\$315.00
JACKMAN'S INC.	300	roll	\$19.60	\$5,880.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
LAGUNA CLAY COMPANY	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	300	roll	\$35.00	\$10,500.00	400	hank	\$0.00	\$0.00	700	pkg	\$1.19	\$833.00
S & S WORLDWIDE	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
SCHOOL SPECIALTY	300	roll	\$10.59	\$3,177.00	400	hank	\$3.98	\$1,592.00	700	pkg	\$3.59	\$2,513.00
SCHOOL SPECIALTY	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700		\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00		pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC ;	300	roll	\$0.00	\$0.00	400	hank	\$0.00	\$0.00	700	pkg	\$0.00	\$0.00

Item #/Description:	l		dle, tape	, (: Hea	ivy rug ya	arn (all	Item 9	3: Plas	stercraft	
	(small)				colors)						5.	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$34.27	\$10,281.00
DICK BLICK COMPANY	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
BUSINESS STATIONERS	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	250	pkg	\$1.05	\$262,50	2000	pkg	\$17.40	\$34,800.00	300	bx	\$0.00	\$0.00
ELISCU & COMPANY	250	pkg	\$0.47	\$117.50	2000	pkg	\$14.52	\$29,040.00	300	bx	\$0.00	\$0.00
JACKMAN'S INC.	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
LAGUNA CLAY COMPANY	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	250	pkg	\$1.39	\$347.50	2000	pkg	\$17.16	\$34,320.00	300	bx	\$27.69	\$8,307.00
S & S WORLDWIDE	250	pkg	\$0.00	\$0.00	2000	pkg	\$7.80	\$15,600.00	300	bx	\$50.58	\$15,174.00
SCHOOL SPECIALTY	250	pkg	\$1.15	\$287.50	2000	pkg	\$5.94	\$11,880.00	300	bx	\$31.08	\$9,324.00
SCHOOL SPECIALTY	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	250	pkg	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00	300	bx	\$0.00	\$0.00

Item #/Description:	Item 9	4: Glue	, stick		item 9	5: Glue	e, white (4	oz.)	Item 96:	Glue,	white (1 g	jal)
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	500	cs	\$65.93	\$32,965.00	1500	cs	\$18.83	\$28,245.00	500	cs	\$10.88	\$5,440.00
DICK BLICK COMPANY	500	cs	\$0.00	\$0.00	1500	cs	\$0.00	\$0.00	500	cs	\$0.00	\$0.00
BUSINESS STATIONERS	500	cs	\$69.13	\$34,565.00	1500	cs	\$18.00	\$27,000.00	500	cs	\$10.50	\$5,250.00
COMMERCIAL ART SUPPLY	500	cs	\$0.00	\$0.00	1500	CS	\$0.00	\$0.00	500	cs	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	500	cs	\$0.00	\$0.00	1500	cs	\$0.00	\$0.00	500	cs	\$0.00	\$5,250.00
CUTLASS ENTERPRISES, INC.	500	cs	\$0.00	\$0.00	1500	cs	\$0.00	\$0.00	500	CS.	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	500	cs	\$98.35	\$49,175.00	1500	cs	\$0.00	\$0.00	500	cs	\$0.00	\$0.00
ELISCU & COMPANY	500	cs	\$0.00	\$0.00	1500	CS	\$0.00	\$0.00	500	cs	\$0.00	\$0.00
JACKMAN'S INC.	500	cs	\$0.00	\$0.00	1500	cs	\$0.00	\$0.00	500	cs	\$0.00	\$0.00
LAGUNA CLAY COMPANY	500	cs	\$0.00	\$0.00	1500	cs	\$0.00	\$0.00	500	cs	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	500	cs	\$65.52	\$32,760.00	1500	cs	\$34.08	\$51,120.00	500	cs	\$14.10	\$7,050.00
S & S WORLDWIDE	500	cs	\$200.16	\$100,080.00	1500	cs	\$38.88	\$58,320.00	500	cs	\$12.68	\$6,340.00
SCHOOL SPECIALTY	500	cs	\$65.52	\$32,760.00	1500	cs	\$35.04	\$52,560.00	500	cs	\$14.54	\$7,270.00
SCHOOL SPECIALTY	500	cs	\$0.00	\$0.00	1500	CS	\$9.26	\$13,890.00	500	cs	\$14.54	\$7,270.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	500	cs	\$87.64	\$43,820.00	1500	cs	\$38.52	\$57,780.00	500	cs	\$12.60	\$6,300.00
STANDARD STATIONERY SUPPLY COMPANY	500	cs	\$86.30	\$43,150.00	1500	cs	\$34.61	\$51,915.00	500	cs	\$13.29	\$6,645.00
STANDARD STATIONERY SUPPLY COMPANY	500	cs	\$32.88	\$16,440.00	1500	cs	\$0.00	\$0.00	500	cs	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	500	cs	\$0.00	\$0.00	1500	CS	\$0.00	\$0.00	500	cs	\$0.00	\$0.00

\$

Item #/Description:	Item 97:	Spong	es		Item 98	: Felt 2.	8 lb. Bag	_	Item 99:	Tissue	paper	
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	1200	ea	\$1.38	\$1,656.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
DICK BLICK COMPANY	1200	. ea	\$0.00	\$0.00	500	bag	\$12.51	\$6,255.00	600	pkg	\$0.00	\$0.00
BUSINESS STATIONERS	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$3.05	\$1,830.00
COMMERCIAL ART SUPPLY	1200	ea	\$0.63	\$756.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	1200	ea	\$1.89	\$2,268.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	1200	ea	\$1.44	\$1,728.00	500	bag	\$19.95	\$9,975.00	600	pkg	\$1.95	\$1,170.00
ELISCU & COMPANY	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
JACKMAN'S INC.	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
LAGUNA CLAY COMPANY	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	1200	ea	\$1.29	\$1,548.00	500	bag	\$0.00	\$0.00	600	pkg	\$1.49	\$894.00
S & S WORLDWIDE	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
SCHOOL SPECIALTY	1200	ea	\$1.33	\$1,596.00	500	bag	\$11.03	\$5,515.00	600	pkg	\$1.49	\$894.00
SCHOOL SPECIALTY	1200	ea	\$0.00	\$0.00	500	bag	\$11.03	\$0.00	600	pkg	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	1200	ea	\$0.00	\$0.00	500	bag	\$0.00	\$0.00	600	pkg	\$0.00	\$0.00

Item #/Description:	Item 10	0: Cello	phane		Item 101:	Metallic	paper		Item 102:	Glitter		
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	900	рх	\$8.42	\$7,578.00	1000	pkg	\$2.67	\$2,670.00	5500	1 lb.	\$2.97	\$16,335.00
DICK BLICK COMPANY	900	px	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
BUSINESS STATIONERS	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$3.05	\$16,775.00
COMMERCIAL ART SUPPLY	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	900	bx	\$8.96	\$8,064.00	1000	pkg	\$2.80	\$2,800.00	5500	1 lb.	\$0.00	\$0.00
ELISCU & COMPANY	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
JACKMAN'S INC.	900	рх	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
LAGUNA CLAY COMPANY	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	900	bx	\$8.29	\$7,461.00	1000	pkg	\$2.65	\$2,650.00	5500	1 lb.	\$3.09	\$16,995.00
S & S WORLDWIDE	900	_bx_	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$4.70	\$25,850.00
SCHOOL SPECIALTY	900	bx	\$7.06	\$6,354.00	1000	pkg	\$3.21	\$3,210.00	5500	1 lb.	\$2.48	\$13,640.00
SCHOOL SPECIALTY	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	900	рх	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$3.27	\$17,985.00
STANDARD STATIONERY SUPPLY COMPANY	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	900	bx	\$0.00	\$0.00	1000	pkg	\$0.00	\$0.00	5500	1 lb.	\$6.23	\$34,265.00

Item #/Description:	Item 103:	Tooling f	oil		Item 104:	Wire,	sculpture	-				W AWARD
											h board 1	<u>1" x 14"</u>
Bidder's Name	Qty	Unit	Price_	Total	Qty_	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$4.71	\$9,420.00
DICK BLICK COMPANY	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$5.00	\$10,000.00
BUSINESS STATIONERS	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	500	roll	\$10.24	\$5,120.00	400	roll	\$8.75	\$3,500.00	2000	pkg	\$0.00	\$0.00
ELISCU & COMPANY	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
JACKMAN'S INC.	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
LAGUNA CLAY COMPANY	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	500	roll	\$9.29	\$4,645.00	400	roll	\$0.00	\$0.00	2000	pkg	\$4.29	\$8,580.00
S & S WORLDWIDE	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
SCHOOL SPECIALTY	500	roli	\$9.33	\$4,665.00	400	roll	\$0.00	\$0.00	2000	pkg	\$4.36	\$8,720.00
SCHOOL SPECIALTY	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg.	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	500	roll	\$0.00	\$0.00	400	roll	\$0.00	\$0.00	2000	pkg	\$0.00	\$0.00

Item #/Description:	Item 106	: Scrat	ch board	blade	Items 1	107 - 110	TOTAL L	OW	Item 108:	Mat 12'	X 18"	
					AWAR	D <u>Ite</u>	<u>m 107: Ma</u>	<u> 18" x 11" </u>				
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty_	Unit	Price	Total
AFP INDUSTRIES	200	ea	\$16.52	\$3,304.00	500	pkg	\$9.87	\$4,935.00	200	pkg	\$102.95	\$20,590.00
DICK BLICK COMPANY	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
BUSINESS STATIONERS	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	200	ea	\$0.00	\$0.00	500	pkg	\$12.84	\$6,420.00	200	pkg	\$58.00	\$11,600.00
CUTLASS ENTERPRISES, INC.	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	200	ea	\$0.00	\$0.00	500	pkg	\$47.88	\$23,940.00	200	pkg	\$54.85	\$10,970.00
ELISCU & COMPANY	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
JACKMAN'S INC.	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
LAGUNA CLAY COMPANY	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	200	ea	\$15.49	\$3,098.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
S & S WORLDWIDE	200	ea	\$0.00	\$0.00	500	pkg	\$1. <u>5</u> 3	\$765.00	200	pkg	\$0.00	\$0.00
SCHOOL SPECIALTY	200	ea	\$5.47	\$1,094.00	500	pkg	\$5.77	\$2,885.00	200	pkg	\$36.55	\$7,310.00
SCHOOL SPECIALTY	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	200	ea	\$0.00	\$0.00	500		\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	200	ea	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	200	pkg	\$0.00	\$0.00

Item #/Description:	Item 109: Mat 9" x 12"				Item 110: Mat 11 1/2" x 17 1/2"				Item 111: frame, 11' X 14"			
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total
AFP INDUSTRIES	140	pkg	\$49.13	\$6,878.20	500	pkg	\$42.42	\$21,210.00	70	cs	\$0.00	\$0.00
DICK BLICK COMPANY	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$54.72	\$3,830.40
BUSINESS STATIONERS	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
COMMERCIAL ART SUPPLY	140	pkg	\$49.50	\$6,930.00	500	pkg	\$30.12	\$15,060.00	70	cs	\$61.68	\$4,317.60
CUTLASS ENTERPRISES, INC.	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
CUTLASS ENTERPRISES, INC.	140	pkg_	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
DGS EDUCATIONAL PRODUCTS	140	pkg	\$34.85	\$4,879.00	500	pkg	\$63.75	\$31,875.00	70	cs	\$99.95	\$6,996.50
ELISCU & COMPANY	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
JACKMAN'S INC.	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
LAGUNA CLAY COMPANY	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
PYRAMID SCHOOL PRODUCTS	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$62.28	\$4,359.60
S & S WORLDWIDE	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
SCHOOL SPECIALTY	140	pkg	\$22.18	\$3,105.20	500	pkg	\$24.04	\$12,020.00	70	cs	\$24.60	\$1,722.00
SCHOOL SPECIALTY	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
STANDARD STATIONERY SUPPLY COMPANY	. 140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00
TRIACRO ARTS & CRAFTS, LLC	140	pkg	\$0.00	\$0.00	500	pkg	\$0.00	\$0.00	70	cs	\$0.00	\$0.00

Item #/Description:	Item 112: frame 18" x 24"				Item 113: Liquid water color				
Bidder's Name	Qty	Unit	Price	Total	Qty	Unit	Price	Total	
AFP INDUSTRIES	200	cs	\$0.00	\$0.00	250	CS	\$16.97	\$4,242.50	
DICK BLICK COMPANY	200	cs	\$0.00	\$0.00	250	CS	\$0.00	\$0.00	
BUSINESS STATIONERS	200	cs_	\$0.00	\$0.00	250	cs	\$0.00	\$0.00	
COMMERCIAL ART SUPPLY	200	cs	\$68.64	\$13,728.00	250	cs	\$0.00	\$0.00	
CUTLASS ENTERPRISES, INC.	200	cs	\$0.00	\$0.00	250	cs	\$0.00	\$0.00	
CUTLASS ENTERPRISES, INC.	200	cs	\$0.00	\$0.00	250	cs	\$0.00	\$0.00	
DGS EDUCATIONAL PRODUCTS	200	cs	\$165.00	\$33,000.00	250	cs	\$18.58	\$4,645.00	
ELISCU & COMPANY	200	cs	\$0.00	\$0.00	250	cs	\$0.00	\$0.00	
JACKMAN'S INC.	200	cs	\$0.00	\$0.00	250	CS	\$0.00	\$0.00	
LAGUNA CLAY COMPANY	200	cs	\$0.00	\$0.00	250	CS	\$0.00	\$0.00	
PYRAMID SCHOOL PRODUCTS	200	cs	\$83.70	\$16,740.00	250	CS	\$16.89	\$4,222.50	
S & S WORLDWIDE	200	cs	\$0.00	\$0.00	250	ÇS	\$31.64	\$7,910.00	
SCHOOL SPECIALTY	200	cs	\$164.70	\$32,940.00	250	cs	\$0.00	\$0.00	
SCHOOL SPECIALTY	200	CS	\$0.00	\$0.00	250	cs	\$0.00	\$0.00	
DABOTER INC DBA SMITH OFFICE OF COMPUTER SUPPLY	200	cs	\$0.00	\$0.00	250	cs	\$17.50	\$4,375.00	
STANDARD STATIONERY SUPPLY COMPANY	200	cs	\$0.00	\$0.00	250	cs	\$0.00	\$0.00	
STANDARD STATIONERY SUPPLY COMPANY	200	cs	\$0.00	\$0.00	250	cs	\$0.00	\$0.00	
TRIACRO ARTS & CRAFTS, LLC	200	cs	\$0.00	\$0.00	250	cs	\$32.96	\$8,240.00	

^{*}Business Stationers – Items 3 and 4 Awarded as a total low – vendor did not bid all items.

^{**}School Specialty – Items 37, 38, Vendor did not bid per specifications – Vendor change packaging requirement. Item 88 – vendor did not bid per specifications. Bid requires 36" W x 10 yard roll, Vendor bid 38" X 10 yard.